ELRS mE  |RERB| REREWR | TLARB Bl EFR XA | FIRRX | OERE | SRR SRS T
102871211106847 | 547 011 ZARZR | 055200 B SIERE 2E%%E | £A8% 424 | 27467 88.18
102871211108699 TE 011 ZARERR 055200 WRSEE SERE ES=L 417 278.67 88.15
102871211102464 |  ERXE 011 ZARZEBR | 055200 A SEE 2E%%E | 28% 414 | 278.67 87.85
102871211102463 |+ 011 ZAR%BE | 055200 A SIEE 2E%%E | £A8% 432 | 264.67 87.31
102871211108929 1At 011 ZARERR 055200 WBSEE SERE ES=L 418 272 87.13
102871211107808 |  Z=BFf% 011 ZARZR | 055200 B SIERE 2E%%E | 2£8% 411 | 275.67 87.05
102871211110423 |  #riSH 011 ZAR%RE | 055200 FriESIEE 2E%%E | £A% 403 | 279.67 86.91
102871211111766 | I=S% 011 ZARER | 055200 B SERE 2EHE | £A8% 408 | 276.67 86.91
102871211102490 | HBEK 011 ZARZR | 055200 B SEE 2E%% | £A8% 403 | 272.33 85.69
102871211102479 |  BEteti 011 ZARF 055200 HESERE EGE ES=k] 413 | 266.33 85.69
102871211102460 | Bk 011 ZARZEBR | 055200 A SEE 2E%%E | 28% 400 | 273.33 85.56
102871211102462 | & 011 ZAR%RE | 055200 A SIEE 2E%%E | £A8% 403 | 269.33 85.19
102871211102496 |  FHEIE 011 ZARER | 055200 B SIERE 2EHE | £8% 398 | 271.67 85.08
102871211102480 | E#BE#A 011 ZARZR | 055200 B SIEE 2E%% | £A8% 420 | 258.33 85.06
102871211110718 |  EE#4RS 011 ZAR%RE | 055200 FrESIEE 2E%%E | £A% 415 259 84.67
102871211102527 | EFIE 011 ZARER | 055200 B SEE 2EH%E | £A8% 391 | 27233 84.49
102871211106479 |  XUEFHT 011 ZARZR | 055200 B SEE 2E%% | £A8% 413 | 258.33 84.36
102871211102520 |  3KHNIE 011 ZARF 055200 HESERE EEGE ES=k] 414 | 256.33 84.12
102871211102517 | K&K 011 ZARZEBR | 055200 A SEE 2E%%E | 28% 405 | 260.67 83.95




ELERS HE |REAE| KRESR | TS BAl=FR AP | FIFR | ERE | SR | SRS &/E
102871211102456 | BRI 011 ZARFR 055200 HESERE SESE £HH 415 254.67 83.95
102871211106165 | MHEEE 011 ZARF 055200 HESERE SESR*E ES=k] 420 251.33 83.89
102871211102516 | BEFF) 011 ZARFMh 055200 WESERE cER%E =HH 405 257.67 83.45
102871231103986 | ANk 011 ZARFR 055200 HESERE BmE | IF2EE 389 266 83.23
102871211102481 | Syt 011 ZARF 055200 MESERE LESR*E =[% 409 253.67 83.18
102871211107081 | Z=%[E 011 Z2ARF 055200 HESERE LER%E E=k 404 255.33 82.96
102871211106843 g7 011 ZARFR 055200 HESERE LEHRE =k 392 261 82.7
102871211108100 | LEE= 011 ZARFh 055200 WESER LER%E E=k] 397 257 82.53
102871211111448 | {E#(Z 011 ZARFRR 055200 HESERE SESRE £HH 401 254.33 82.49
102871211111880 | =& 011 ZARF 055200 HESERE SESR*E ES=k] 408 248.67 82.25
102871231103985 | XU 011 ZARFMh 055200 WESERE B | Ik=EH 374 263.67 81.35
102871231103987 | 3KZRfF 011 ZARFR 055200 HESERE BmER | IF2EE 362 269.67 81.15
102871211106482 |  #tHialE 011 ZARERR 1302L1 B8R cER*%E =B 357 | 283.67 82.98
102871211106668 |  ZxtHEF 011 ZARERR 1302L1 BRF cER%E E=k 365 278.34 82.89
102871211102533 | BFiH 011 ZARFRR 1302L1 BRFE e =k 376 271.67 82.88
102871211111519 | B/\W 011 ZARF 1303L2 I REBIZAZE LER%E E=k] 393 255.67 81.91
102871211105539 | EB/NgR 011 ZARFR 1303L2 IERBIZARE SESRE £HH 389 253.67 81.18
102871211109063 |  §HER 011 ZARF R 1303L2 | JHEBMIZAE | 2EB%E | =B 388 | 244.67 79.58
102871211110685 | FEiE 011 ZARFM 1303L2 I ERERZAE LER%E =[8% 351 257.67 78.05




ELHRS "E  |RERE| RREWR | TS BAEFR XA | FIMK (ARG | Sl | SRSk s
102871211110719 | &S 011 SARERE 130312 | [JiBEBIZAZE SESE £B8%| 362 | 249.33 77.76
102871211104015 |  sk&E=if 011 ZARERR 1303L2 | JHEEIZAZE LEGE ES=L 394 230 77.73
102871211112636 |  KERE 011 SARER 130312 | [JBEBIZAZE 2ESE | 28 366 | 24433 77.32
102871211102539 | g 011 SARERE 130312 | [ iBEBIZAZE cESE | £B8% 381 | 23433 77.16
102871211102544 |  FiZR, 011 EARER 130400 e £EHRE | 2B 430 | 276.67 89.11
102871211109843 |  #5tE 011 SARERE 130400 ERFE cESE | 284 404 276.5 86.48
102871211112133 | EEH 011 SARER 130400 e cESE | £8%# 400 271 85.17
102871211105447 |  3k#esy 011 SEARER 130400 EARZ £EHRE | £B% 392 | 268.58 83.96
102871211108440 | BB 011 SARERE 130400 ERFE SESE £B8%| 362 | 279.33 82.76
102871211104743 |  3KH 011 SARER 130400 e/ £EHRE | <H% 382 | 25833 81.26
102871211104605 | XS 011 ZARER 130500 ®itE LESE | 28% 406 277 86.77
102871211111496 | XUEE 011 SARERE 130500 gt 2ESE | 28 397 260.5 83.12




